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0. Noslicarries dimarioieach..., w5 a8 b e, 1x12 = 12
Q. No. 2 to Q. No. 17 carry 3 marks each .............ooo.... 3x16 = 48
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1. Answer as directed : 1x12=12
Bl IGRIFIRC R
(@) What do you mean by argument and entry ?
IFEFHT B e)fe et 3o 2
(b) If f(x)=c, where cis constant, then Af(x)="?
T f(x)=c, T c bl &=F, cofoml Af(x) = ?
(c) State two advantages of Lagrange’s interpolation formula.
wTIeliG SR 9@d 70! 7Rl B 4 |
(d) Under what condition the equality P(AUB )= P(A)+ P(B) holds ?
& 59s P(AUB)=P(A)+ P(B) el 5 242
(e) Let g(x) be the function of a discrete random variable X and
= {xl, o } is the set of all possible values of X. Now if
f(x) denotes the p.m.f. of x, then E[g(x)] _
(Fill in the blank)
<51 A foeT 5o X4 (%) T D = {x,, x,, . .. X, } X350 N
RS | e A £ (x); X[ p.m.L. T, (508 E[ g(x)] 1
_ (31171 312 75 471)
(f) Write two examples of occurrence of binomial distribution.
f@wiv 26T 761 Twrzael |
(g9 The standard deviation of a normal distribution ;
quartile deviation. B o i<l dind the
BT 2 I3 S REeM 20 | 5w Rpyfs fiefa s |
(h) Define statistical hypothesis.
o/ emE e [l |
(i) State two assumptions of Student’s t-test.
G t-2ISIHR 70! SedIRel Bzl 354 |
() Define attributes with examples,
THIzIeR (0 e[ A<l i |
(k) Define sampling frame with examples.
IR Cice aifSbam sitof st fia |
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() How many random samples of size n can be drawn from a
population of size N, if sampling is done without replacement ?

NSIFIRE AR #fa1 n Sipla T o eifow! i R, 7 efosamice!

oA F1?
State the properties of operator A. 3
FHTE AT GOTR O 9 |
A? e*
Evaluate the value of 7—73. 3
(aex)
A% e*
——7 I R |
(aex)
State the fundamental theorem of finite difference. What are the
assumptions generally made in interpolation ? 1+2=3

+iffie wrgaa GRS SISt il | Srerdie SfeRarmR 3 &2

What do you mean by numerical integration ? Write down the general
quadrature formula and identify different terms in it. 1+2=3

SR ST JeTCe (6 @l 2 FIel <5 <e<el 700! 77l i RaS IR AR
ARpa T |

Define random experiment and mutually exclusive events with suitable
examples. 1%+172=3

RS ST TICS A AT ol wAwia IRg® w017 7iket |
In a family of 4 children, assuming the probability of having a male

1
child to be > find the probability that all the children will be of the
same Sex. 3

51 AR 451 7 I-(RTETIT Bl ST (R TSR %qﬁaﬁmw
I G ot (@RI STEifde! s e

Define discrete and continuous random variables with examples.
1Y%+1%=3

Brizael e Rz aiy oz S Sidfbza a1 foes bere ke il |

A die is thrown. Let X denote the point on the uppermost face. Find
E(X). 3
ot TuefS vEed 25| X @ 8oRT WU I@H | E(X) Fefa
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10. Show that V(aX +b)=a2V(X), where aand b are constants. 3

(e @A V(aX +b)=a?V(X), TS aTiF b &35 |

11. Establish the relation between mean and variance of binomial
distribution. 3
Q71 IR T4 T AR AT T2 Zoi 51 |
Or [ 91
x 2
If X ~B(n, p), then show that E(;I——p] =29 3
n
x 2
AWM X ~B(n, p), (0T Y& @ E(;—p] =%‘i.
12. Under what condition Binomial and Poisson distributions tends to
normal distribution ? 3
S 5 Aloles R S SI=5 I 2N I+ DI it 2
13. Explain type-I and type-II errors in relating to test of significance. 3
Aol SR RS AL AR (1) i =S & (11) S 2yr 7w |
14. Define null hypothesis, alternative hypothesis and leve] of significance.
e o7, Ros oo S Olesid B9 wige fm | 3
Or | 9g2qr
Write down the different steps involved in test of significance in brief
3
Aol AT Give [IOH AMTFRE 53t B |
15. Explain briefly the testing significance of single mean for large sample
> 3
<ot ST 1A AR AN 2 2Aforrefa 1wt =19t pess 3oty 2o
16. Define sampling distribution, unbiased estimate and standard error
2 ObI IBH, TGS SIFTS I T Ffoa sigeay firgy | §
Or [ g4t
A coin is tossed 900 times and head ty ]
hypothesis that the coin is unbiased. ERER S inesyiic thg
<51 4l 900 IR @2RCaT FTH 1 21 | Wi B s
: S 48 & |
TAICH! TGS (R S5 21K 3531 | AR A
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18.

1.9.

Explain the principles of sample survey. 3

elfor{ STTreiT THOTR T 1 |

Or [ §3<1
Write down the causes (sources) of non-sampling errors. 3
G @ oa FRe (B<T) 7372 Bz 41 |
From the following data estimate the number of students who secured
more than 15 marks : &5
Ood WU A 15 THIO® (@R (2RI RS AR S 5 ¢
Maske 0-10 |10-20 |20-30 |30-40 |40-50
DS
No. of Students i3 5 50 5 >
RIGF R
Or [ 9241

6 dx
Find the value of Io e by Simpson’s %rd rule and hence find the

value of loge” . 5 S

6
ﬂa_ﬁmgﬁﬁﬂ:ﬁﬁ&&mﬁzﬁﬁ _‘-0 mamﬁ@wm loge” 337 Refx
4l

For any two events A and B show that

P(ANB)<P(A)<P(AUB)< P(A)+P(B). =
Rt 75! W61 A OIF BI IR
P(ANB)<P(A)<P(AUB)< P(A)+P(B)

Or [ &34t
Find the probability that in a family of 3 children choosen at random
there are 2 boys, given that the first child is a boy. 5

<51 SRR 351 &7 (AT A BFOIca AH FReE 22w 251 o9l (IR TsiFe!
Ry a1 | 7 ©cg, AL A 4 |

20. Suppose that Xis a continuous r.v. whose p.d.f. is given by

()_ k(4x—2x2), 0<x<2
A 0, otherwise

Find kand P (X >1). 5
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1 TS X o1 ififveg
02T 557 AR TSIl Ty T 2 o

kldx-2x2): :
f(x):{ ( 0 ) ), O-< o To observe the reaction of inoculation for TB of cows, the following
_ , otherwise data were obtained comment on the effectiveness to present TB of
RIS P (X >1) 339 Rl COWS :
2 Given Zi5oeme ot 5
1. T 1 . - 7
aﬁg Zrznniifevgnsaﬁle X follows a binomial distribution with mean 10 o T STl et R #1 IR AT I 1 ST el FeT (AR ST |
: ow that20 A Eri‘_cw 43q W w 49 @"@ac{ ﬁ!\')( 49 FH 5i§i F 4l
P (X >6 ] = [l 1 Z 200 e | Attacked Unattacked
2) r=7 i 5 IR OIS
51 Aoz _
e X @ =i 354 W 5ee | orw 10 W1 2716t 5| (rpet oy Inoculated 123 26
P(x>6)=(1 2020 2AfSCELE T
o) (2 } ,; e Uninoculated 16 e
et QIR
Or / w3 frat o 2205 = 3 841
. 00 ' .
Derive the p.d.f. of standard norma] variate. 24. Explain the prinmpal steps 1n sample survey.
ST SIS GoThd GG Tl (el | o oo TP S AR T
22. 400 men and 600 GnlAsRTl
' : women were asked if they would I : ling ? Show that in case
: ; mple random samping :
;:j;otsl:IMTx(;es?f}?:cl::}-’p%?g rr,lenthand 325 women ;i(eeréoiia}: ﬂyovez; V\?haf;lﬁeytr):nrgggnst;{nsgnfg with replacement, sample meangfsag
R €sis that : vour o of simj ' . e =
regarding the proposall ATélsashe Proportions of women and men unbiased estlmate of popgﬁg;;? El?ﬁ%@m BT - s
W‘ﬁ\o e (7R &
400 T =47 I 600 WP CITRI (T @b g7y e 2 ?;jg% @ 2o e e T T[T SRR
G [T O 325 WfZes ABEnt OIS 2 | DB IR W” 1T (T14rs 200 o5 .« the basic difference between questionnaire and schedule ?
SANSUBI RFECH i 1 | T O 2R e S ¥ TS TR A1 2 AT
. & data on stratified random sampling estimate the
o34 T d From the following
- 1wo random samples having the sam : opulation mean.
: ple s BOB S S, e ST 4 |
respectively have the means 67.492 and o ‘i‘;—'is 1000 and 1200 o GATO W sifopana ©UE AHl (S
population s.d.sare 2-58 and 2.50 Testih (ol ven that respective Size of Stratum Size of Sample Sample Means
between means. ' ¢ Significance of difference - siforfa B eifer g
SoEGACIRAR
10 (5] AL e = ey 63
00 =11 1200 WI=sIRT 10! Aoz eifewig e T 7 R 12
RS T Roem 258 W 2.50 iﬁﬁwmlmm.42 Sk 6725 | = 18 50
T <541 | ; G 2Nl iRy e 10 55
___'__l(_)g-—-——-"'l-'_________ 24+3=5
34T STAT (6] = o

34T STAT



